36-800

CLASSIC UNISAW CS-4K-1
AA QWECO"!:TA WITH BIESEMEYER FENCE Part No. 422-04-651-0043
— pany WHITE LIMITED EDITION Dated: 6/25/97
~~
VN

Page 1/CS-4K-15/FPB




REPLACEMENT PARTS

THE DELTA CLASSIC UNISAW INCLUDES SEVERAL NON-STANDARD WHITE COMPONENTS. ~—
PLEASE REFER TO THE FOLLOWING PARTS LISTING PRIOR TO ORDERING REPLACEMENT PARTS:

REE. LARTNUMBER  DESCRIPTION
NO.
1 422-04-318-0010 WHITE CABINET ASSY, INCL:
2 1087794 RIVET
3 422-04-132-0002 TILT SCALE
4 1087794 RIVET-
5 422-04-137-0005 NAMEPLATE
6 422-04-331-0010 WHITE HINGED MOTOR COVER, INCL:
7 901-05-213-1498 #10 X 1/2” HEX WASHER HD SCREW
8 400-06-416-0001 GASKET
9 537-85-004-0001 LATCH W/BUSHING & NUT
10 422-04-752-0175 WARNING LABEL
11 422-04-026-0003 DUST CHUTE
12 901-05-213-1498 #10 X 1/2" HEX WASHER HD SCREW
13 438-01-016-0197 WHITE STARTER, GPE, 1PH, 230V, INCL:
14 438-01-004-0007 CORD CLAMP
15 438-01-011-0054 INSULATOR SLEEVE
16 1352161 FRONT RAIL
17 1350291 3/8-16 HEX NUT
18 1350288 3/8" LOCK WASHER
19 1350286 FLAT WASHER
20 1350296 3/8-16 X 1 1/4” FLAT HD SCREW
21 1352162 REAR RAIL
22 1350285 3/8-24 X 1 1/4" HEX HD SCREW
23 1350286 FLAT WASHER \/
24 1350288 3/8” LOCK WASHER
25 1350287 3/8-24 HEX NUT
el 35-617 10" CARBIDE TIPPED BLADE, 50 TEETH
AVAILABLE AS AN ACCESSORY
il 49-335 WHITE SPRAY PAINT 16 OZ
* NOT SHOWN

FOR ALL OTHER UNISAW COMPONENTS, SEE PARTLIST CS-4K-14.
FOR ALL OTHER BIESEMEYER FENCE COMPONENTS, SEE PARTLIST CS-14.

STANDARD SAFETY EQUIPMENT
In order to promote tool safety, Delta International Machinery Corp. strictly enforces the policy of repairing or replacing any damaged or missing standard
safety equipment on machines presented to Delta Authorized Service Centers for service/repair. Any product which is presented to a Delta Authorized
Service Center for repairs which contains missing or damaged standard safety equipment will have that equipment repaired or replaced and the customer
will be charged for any such service/repairs. Customers can avoid such charges only if the missing safety component is supplied to the service center at
the time of repair.
N

This parts list is provided to aid in obtaining service parts. Copies of the instruction and maintenance literature can be obtained through the Delta
Technical Publications Department or through your local service outlet.

Page 2/CS-4K-15/FPB .
Printed in U.S.A.



